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Answer all qucsrions on this paper itself.

the distance that o bus travels at a shiform speed of 100kmhi* covers during 2 hours.

I

2y If = of acertain distance is 10km. tind the total distance.
L2 .

(3) x == {factors of six ) write th sct x. by listing elements.

@) Find x, using the information given with the figure

b
(5)  Select the most suitable value for the firstappreximation of /33
0 56 (if) 57 (iii) 58 (iv) 59
: 2
. T S
(6) Simplify FY

(7)  Name the guadrilateral which is not a parallelogram by considering the data given with each figure.
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class room on a 'sramadhana dav conduced in th
T RN R N o
ired to clean the class room.

s A4S munuies o clean thelr
qo or that day is 25 find the time required

cx from and find the value o

ithmic from. in ind

nin o

initial Rs. 500 000is free of in

(10)  The nnual income of a certain individual is Rs. 300 000 and the
annual income tax that he has to pay if the rest of the money Is suhject 1o 4 9 income tax.

(I1y  Factorize 37 45x--6

L

Find the length of the arc of the sector shown below

ldem

Find the L. C. M. of the terms 3¢* and 2ab.

R

14 Ive th ati ==
(14y  Solve the equation 5y 5

In the riangle ABC. AB == AC
Find x

(15)

rO
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(x4 I)x-3) ..

{18)

Considering the data given with the figures, insert the suitabie
sign in the box given infront of each statement.

Correct -» ¢

incorrect — X

o

The triangles ABC and PQR are congruent according 1o the SAS case

The tringles ABC and PQR are congruent according to the RHS case

)

PO R is the corresponding angle 1© B 4C

(20)

Find the value of x using the information v

given with the figure.. , .

@n

Find the area of the semicircle.

- l4em

(22)

Write the shaded region in the set notaion.
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23y Find the gradient of the straight line which goes through the points (4.8) and (2.5

: . . . . i3
Y Find 4 8¢ tion given with the figure. ’/T\
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CPart B
Answer all the guestions.

7 !
(@) Simplify (*8' - Zj =1y

of the capacity of the fuel tank in a vehicle is filled with fuel.

(WA N

(b

0 ‘What fraction of the capacity of the tank is remained to be filled completely with fuel.

(i)

co |l

‘the capacity of the tank.

(iiiy  Afrer the journy it is dicided to fill the tank completely with fuel. It 35 litres of fuel is necded 10

completely fill the tank, find the capacity of the fuel tank. .

oy

of the fuel in the tank was consumed for a certain journy. Find the fuel consumed as a fraction of
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(2) ABCD s a rectangular land of the fength 20m and breath {4cm. The region ADE is 2 sector of radius "AD' and the

A
center 'A" There is a vegetable hed of shape of a triangle (ADF) and the shaded region denotes a pond in the land.

M TFind the length of the are of the sector 0 20m o
which s one of the boundaries of the pond.

~

t4m

(n Find the area of the top surtace of the pond,

(i) The remalning region . except the vegetable bed and the pond is grown with grass. Find the area of ths
e grASSY-TRGIOT - A

(iv)  Ttis needed to scparate a rectangular portion in the land such that the length of the rectanguldr part is
“BC™ and the area is 1/3 ol the arca of the grassy region. Show the rectangular part in the land with its

measurements.

b
(3) {a)  The assessed annual valus of a house s Rs.32000.00 .The relevent provincial council institute charges
6% of the house as rates.
) Find the rates that have to be paid for the year.

(i) Howmuch has to be paid as rates for a guarter.

ar
(i) 1fRs.750.00 is charged by the same provincial council institute as quarterly rates for another
house, fid the annual assessed value of the house.

(b) A 'person who borrowed Rs.100000.00 at 12% simple interest . got i-clcaséd from the loan after 2 years.
What was the amount he paid back. : ' :
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The the mode of ransport of tain institute.
A= y Public Buses C -
D - On foot
(i vate vehicles is thrice the number
ich reprasents

Ay the number of workers whe comie by train and the nun Fnrkars who come by moetor cycles are
equal. find the angle of the sector which denotes the workers who come by motoreycles.

(i) If the number of workers who come by private vehicles £ 24 find the total number of workers in the
instituiz.

(iv)  Asthere was a common bus strike ona certain day, 10 workers who come by buses come by train. ifthe
pie - chart is drawn again with the new information what will be the angle of the scctor which denote the
workers who come by train.

5 @ &= {1.2.3.4.5.6.7,8.9.10) . A= {2,357}, B {2.4.6.8.10)

H Complete the venn diagram using the information above.

<
[*2

(1) Write'the set AN B, by listing elements.

(iiD) ~ Shade the region denoted by the set AAB.

® 1 m(A)=7.n(B)=13n(ANB)=4 Find n(4AvB)
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GRADE- 1
Mathematics -~ If

Name / 580N NO ¢ oo verrereranenens revesrmseerensenns . Time : 03 hours
© Amswer S guestions from part A and 5 from part B
Part A
h (@) A person who borrowed Rs. 60 000 from a-certain fnancial institute, agreed to pay back the loan with the
“interest in 10 equal monthly instaliments. If the monthly instaliment was Rs. 6600, find the annual rate of  #
simple interst chaged for the foan.
(b) If he agrees to pay back the loan with the interest in 12 equal monthly installments at the same rate of
.interest then what will be the amount of @ monthly instatliment.
2) An incomplete table prepared to sketch the graph of the function y = -x* + 2, is given below.
¥ 3 2 1 0 I 2 3
) 7 I T I 2 7 .
() Copy the table and fill in the blanks.
(1) Using the scale of 10 small divisions as one unitalong both the x- Axis and v - Axis, sketch the graph of the
above function.
(i) Write the coordinates of the turning point. &
(ivy  Hense deduce the coordinate of the turning point of the function y = x* =2
(v} Using the graph find the rbots of the equation 372 = ()
3 Solve =o— ~——=0
a olve ——————=
G @ 2x-1 x+1
(by Supun obtained some mancy from an outomatic taller machine (ATM). There were 26 notes including 1000
rupee notes and 5000 rupec notes in that money. The number of the 1000 rupee notes is 8 more than the twice
of the number of the 5000 rupec notes. Taking the number of 1000 rupee notes as x and the 5000 rupee
notes as y . build up a pair of simullaneous equations and find thc money supun obtained at the ATM.
- ) e E X
(@) Avegetable bed ACDEF is prepared taking two walles (AF. EF) of ) o H
a security room as its two boundaries. The fence made arround : security
the other 4 boundaries is denoted by ABCDE, of length 12m. ! guard room
N . . 1
AB=DE=xand BC:=DC showthat, . ak F
o . . . . LT ==
(i)  BC=6-x o
(i)  Area of the vegetable bed is [2x- 357 . .
- (i) - Area of the floor of the security guard room is -:'!(9-- 6ok x* )
C ' ' al 2 -
B 1 C

(iv) ~ If x =2m . find the arca of the floor of the security guard room.
St
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tion of Sam distance ‘
Lol . . ke A I i “ ! ! I i
his home and af (KM ; | ; | i |
.: E . i 1 :
! { |
graph. find the | , !
1's home. to the : :
l i
o~ 1 f e ~ P I
(1) Calculate the spead at which Saman !
cycled to the city. in km per hour. "
Gin How Saman spend at the .
city. . | .
(iv)  If he rewurned back home from the ™ :
city, moving at a uniform speed in a_
40 seconds, sketch the relevant :/l : i :
graph 1o represent the motion on a 03 N A T B B
copy of the given graph. ’ : ! ; ! 1 '
i 1 | | I [
{v) Show.that when he returned heme . L7 4y
= had ignored the prevailling speed 0 20 40 & & 100 120 140 160
limit of 70kmh! time (hours)
{&) (a) Factorize
o x*—-49
(i) X4 5x--14
(b)  Find the L. C. M. of the expressions.
x* =49 and y¥ 45y--14
2 ]
: implify 5 + =
©  Smplity I 7 Fisio4 '

(@

Solve X +5x-14=0

Part B

(

7)

®
(i)

(iiD)

Without using the logarithm table, find the value of
If lg 2.56 = 0.4082 find [g256

o . 47.8x2.415
Simplify by using the logarithm tables. — 256

lg 125 +1g 16-1g 2

o~

In the triangles ABC and ADE, AB-:AD. AC = AE, BC =DE

@
(i)
(iii)

(iv)

Copy the figure and feed it with the data given.

Prove that AUBC = AADE D
Write the remaining corresponding elements which are

equal to each other.

Using the cOngruenée of two friangles or otherwise

prove that BE = CD


https://pastpapers.wiki/

has to be paid. The value of o LED welevision

9 (&) When the
set whi
0 '
(o w the value of the television after the customs duty is paid
(D IFVAT of 15% wus chargad on the value of the television with the cusioms duty included, find the

new value of the television with VAT,
{h) ain wall, After completing 3 days of work. one gets sick. Howmany
task by the other 3 masons
{10 The magnitude of 4 is 3 times of the nagrfitude of a & ¢ - The perpendicular drawn from B to the bisector of

C D

Yy : T P n -~
BAC 38BD 450 x. A= ¥ ,/‘\:‘»‘
/ g \
. . .

Using the information of the figure shown, / ~o .

- : \,
(@) (D) Find 774 D interms of y / \\ AN
. / ~ N
\
(i1) Find 4C 8 intermsof
O . S'now that 2+ y = G0Y
R i

(ity  Hense or otherwise prove that BC is the bisectorof 48D .

In the quadriliateral ABCD, AB // BC. AX and CY arc drawn
perpendicularly to DB from A and C respectively. AX = CY

(1) Prove that AXCY is a parallelogram
() Provethat 48X A= DCYA
(iti;  Prove that ABCD is a parallelogram.

(12)

Infomation about the number of students who participated for two mathematics contests held ai’a certain school
is given in the following table.

Maths - Do you know contest Maths - Olympiad contest
Boys . & Graraesinessasiasasasrssinsnsn
Girls S I

Students who participateg
for the contest

Girls  —
Students who participated for

the maths - Olympiad contest

(i) Copy the table and the venn diagram fill in the blanks of them.

(i)  Find the total number of students who participated for maths Olympiad contest.

(i)  Shade the region denoted by the students who participated do you know contest,

(iv)  Taking the set denoted by the girls as A ancl the set denoted by the students who participated maths
Olympiad contest as B, represent the region denoted vy 6 in set potation.

(=

L)
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